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CANARE L-4E6S
Z=44 OHM ,C=185pF/m,
R=9.8OHM/100m->98mOHM/m
L=0.358uH/m
LEN=LENGTH (m)
Resistor Hot-Cold
   ->100MOHM/m
   ->G=0.00000001 S/m
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VAC
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0

VAC

PARAMETERS:

LENGTH = 1
RLOAD = 50k

R11
{RLOAD}

LOSSY
T2

C = 185p
G = 0.00000001

L = 0.358u
R = 98m

LEN = {LENGTH}

V21Vac

0Vdc



Temperature: 27.0

(M) load_cur-SCHEMATIC1-ACPARA.dat (active)

           Frequency

1.0Hz 10Hz 100Hz 1.0KHz 10KHz 100KHz 1.0MHz
I(V2)

100uA

10mA

1.0A

10uA

10A

DRIVE VOLTAGE = 1V

LOAD LENGTH

LOAD RESISTOR = 50kOHM

LOAD CURRENT

200m

50m

10m

1m

0.1m

(25.000K,1.4550m)

(25.000K,5.9340m)

(25.000K,291.304u)

(25.000K,53.842u)

(25.000K,22.719u)



Temperature: 27.0

(N) load_cur-SCHEMATIC1-ACPARA.dat (active)

           Frequency

1.0Hz 10Hz 100Hz 1.0KHz 10KHz 100KHz 1.0MHz
I(V2)

100uA

1.0mA

10mA

100mA

1.0A

10A

(25.000K,59.340m)

(25.000K,14.550m)

(25.000K,2.9130m)

(25.000K,538.422u)

(25.000K,227.193u)

0.1m

1m

10m

50m

200m

LOAD CURRENT

LOAD RESISTOR = 50kOHM

LOAD LENGTH

DRIVE VOLTAGE = 10V



Temperature: 27.0

(O) load_cur-SCHEMATIC1-ACPARA.dat (active)

           Frequency

1.0Hz 10Hz 100Hz 1.0KHz 10KHz 100KHz 1.0MHz
I(V2)

100uA

10mA

1.0A

100A

(25.000K,148.350m)

(25.000K,36.375m)

(25.000K,7.2826m)

(25.000K,1.3461m)

(25.000K,567.981u)

DRIVE VOLTAGE = 25V

LOAD LENGTH

LOAD RESISTOR = 50kOHM

LOAD CURRENT

200m

50m

10m

1m

0.1m



ケーブル長の変化に対する出力電流の変化 CABLE=L-4E6S
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	1p　回路
	2p　ドライブ電圧1V
	3p　ドライブ電圧10V
	4p　ドライブ電圧25V
	5p　まとめグラフ

